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Is it not so; that he alleged the claim of 702 N

OVERVIEW

»aX (in his attempt to prove the ruling of X"9 that 1°2¥ 7701 7RI *NRYA 5" AN
assumed that the 22102 NIYY in our 7wy is 8"5 NWY (and not 217 NIWY)." Our ModIN
explains what led X to this assumption
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The explanation seems to be, that we assume that by 2°»7 niyw there is no
concern that his mind will be calmed and he will not come to 72 if there is a delay -
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For since there was no blood, his ‘heart pounds’ with concern and he will not

cool down; however by a claim of ' there is concern that he will cool off (and
not come to 7"2). Therefore they were "7 217 nXw1 72102 jpnn for 5" NIWY only, to make sure that
he comes immediately before he cools down.

SUMMARY
In the X" we assumed that there would seemingly be no need to be concerned for
XNYT 717K by 0°27 n1vw, only by 8"5 nivv.

THINKING IT OVER

Why was it necessary for Md0In to explain the X7 that the 7awn is discussing Ny
9"p (only); perhaps the X713 meant we are discussing all M1y including 5"5 (which
would still prove that by 5"s nivw he is 19¥ 770185 1181)?’

" See “Thinking it over’.

* See ‘Overview’.

? pn7 nwv (a claim of blood) means that there was no 2212 o7 by the initial 7x°2, which (seemingly) proves that
she is not a 7212 (as opposed to "5 N1wv, in which he claims that no membrane was broken).

* The lack of 07 is the most accurate way to substantiate that she is not a 791n2. There is no doubt in his mind.

> He will come to "2 even after a delay of a few days; since he is certain she is not a 7203, she may be 19y 70K if
she was (17¥12) 7am. Therefore there is no need to institute '7 212 nXW1 79103, for no matter when he marries if he has
o7 nwv he will certainly come to 7"°2 eventually.

® This is not so definite a proof since he may be *pa WX; therefore if there is any delay there is the possibility that he
will not come to 7"2. It was only for 8" N, that the 0°»on instituted that '7 1% nRWw1 772102

7 See TR R"wnn (and also how mnoin will explain the 5" NI 1PYu XpPT IR *Kn of Ao 27 later on this TMY)
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